
9 2a -6a+1= 2
0 1-ア3a イ1

よって　　A=U 2
0 1-3a 1 + a+2

[1]　a>
1

3
 のとき

　3a-1>0，a+2>0 であるから　　A=3a-1+a+2=ウ4a+エ1

[2]　-2(a(
1

3
 のとき

　3a-1(0，a+2)0 であるから　　A=-0 1-3a 1 +a+2

　　　　　　　　　　　　　　　　　　  =-3a+1+a+2=オカ-2a+キ3

[3]　a<-2 のとき

　3a-1<0，a+2<0 であるから　　A=-0 1-3a 1 -0a 1+2

　　　　　　　　　　　　　　　　　　  =-3a+1-a-2=-4a-1

以下，A=2a+13 となる a の値を求める。

[1]　a>
1

3
 のとき　　4a+1=2a+13

　これを解いて　　a=6　　　これは a>
1

3
 を満たす。

[2]　-2(a(
1

3
 のとき　　-2a+3=2a+13

　これを解いて　　a=-
5

2
　　これは -2(a(

1

3
 を満たさない。

[3]　a<-2 のとき　　-4a-1=2a+13

　これを解いて　　a=-
7

3
　　これは a<-2 を満たす。

以上より，A=2a+13 となる a の値は　　a=ク6，
ケコ-7

サ3
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